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5. Explain the concept of Rolling Settlement.
Further explain lht 'Dapontnry System” with respect
to clearing and mmweut in secondary market in
India. (15
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8. Write Short notes on any three af the following :
() Call Money Market
(b) Circuit Breakers
(el Hﬁshmw

(d) Book Building Method Vs Fixed Price Method
| (5,3.5)
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A bank provides the lollowing terms and conditions to
o prospective home loan borrower

(2} Amount of a loan: Re. 10, 00,000,

(b} Duration of loan: & yvears and loan installments

are to be paid on un anoual basis.

{(c) The terms of the interest are; Fixed Rate of
Interest: 6% per annum OR Floating Rate of

Interest: 5% per annum.

(d) After four years, the flogting rate is expected to
rige 10 6 % per annum and the corresponding fixed
rate shall he B %. Also, there is o high probability
ofz further risein the floating rate in subscguent
vears. Al thig time if the borrower decides to
switch from floating to fixed, he will have to bear
switching cost of 2% of the outstanding amount
of loan. Assuming that the interest {8 compounded
annually, determine whether the home loan

horrower should ap Tor

(i} Optien-1: Fixed rate or

1326 3

(i) Option 2: Floating rate of mterest initially
and then swilching te fixed rate of interest
after four years due (o an expectation of
further hike in the Moating interest rate.

(15)

2, “NBFCs have been instrumental in promoting financinl

inelusion in [ndia™, Explain the given stalement in Hght
of the role played by NBFCs in the Indian financial
landscape. Also explain how NBFCs are different

from commercial banks. (15)

3. What is meant by listing of Securities. Stuting the

categories of listing (of securities), explain the
process/provisions to be undertaken by a compuny
to list {ts shares, with respect to SCRA and SEBIL
regulations, (15)

4. ABC Company Lid intends to make a public ssue af

10,000,000 eguity shares of Rs. 130 each &t par (Cut
off price), payable fully on spplication as well as

Pl 0
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(15)

‘5. Explain the t nce - of &w‘ﬂiu; Settlement.
Further explain the *Deps  System® with respect

to clearing and settlement in secondary market in
India, (15
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Attempt any FIVE questiony,

Attampt all parts of 8 particular guestion 1opether.

1, What is market failure? Elaborately explain various reasons that lead to market failure,

2. a) What do vou understand by prisoners’ dilemma?

{5. 109

{5}

b) Given:
Prisoner B |
confess | Do not confess
Prisoncr A confess 8.8 1,15 .
Do not confess | 13,1 3.3 |

P-T.0.
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2
Solve:
1} What is dominant strategy? Find if there exists g dominant strategy for the above
question?
1) Solve if both the prisoners are risk- sverse.
{3, 5)
3. a) Explain the price rigidity with the help of kinked demand curve. (5)

b) Ina duopoly market two firms facing the linear demand curve:
P=900-0Q
Where MC; = MC; =300
Find the equilibrium for the above condition under Cournot's equilibrium and under

Stackleberg equilibrium.
(5.5

. What is Pareto efficiency? Show that the aptimal output of a perfectly discriminating

monopolist is Pareto efficient, use suitable diagrams. {5, 10)

- Explain #hd prove the Walrus law. Does Walrus law holds true for all the price set or

only for equilibrium price set? (10,5}

- What is Arrow's impossibility thearem? Explain the concept of fair allocation usging

suitable diagram. (7, 8)

- How is demand for labor determined under perfect competition? Is it easier for an

individual to seek raise or for labor union? Explain with suitable diagram, (8,7

(200)
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SECTION - A

Consider the following statement, state whether
true or false, give arguments in support of your answer
(any three)

{a) Phillips curve shows direct relationship between
inflation and unemployment.

{h} The monetary policy is guite effective to alter level
of output and interest rate under the conditions of
liquadity trap.

(&) The elfectivencss of money multiplier is inversely
associated with credit to deposit ratio,

(d} If demand for money is insensitive to interést rates,
LM corve is nearly vertical. (5=3=15)

Describe the Keynesian theory of demand for money.
Do vou think thal interest rate does not affect
trumsaction demand for money accordmg to Keynesian
theory of liquidity preferences. Give reasans in support
of your answer. 110+5)

What is Keynesgian theory of income determination?
How it differ from classical theory of income

determination? If marginal propensity- to consume of

an economy Increases over time, how il impoct
equilibrium level of income. Explain with suitable
exnmple. (5+5+5)

1286 3

4.

What are the primary and secondary- funetions of
maney in an open economy. [ifferentiale between
guantity theary- of money and loanable (und theory-
of interest rate determination, {HH5)

SECTION - B

A hypothetical economy is characterised by following
functions of an IS-LM Model :

=200 + 0.35¥,

I =150 + 0.25Y — 10001

G =250

T = 200

(M /P), = 2 — 8000
M /P = 1600

(a) Derive the 15 and LM relations and find out an
equilibrium level of income and interest rate.

{b) IF central bank chiange the menetary base and the
monetary expansion takes the form of an increase
in the money supply from original level ol 1601 in
the model lo 1840, What is the effect of monetary
expansion on the equilibrium values of Output,
Interest Rate, Consumption and Inyestment in the
maodel?

{c) What 15 the effect of a Fiscal Expansion will have
on the equilthrium values of Y, 1, € and | when an
merease in Government spending - G rises to 400

P.T.0,
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from the original jevel of government spending of
750 assuming that money supply 1% hack @t its
ariginal jevel of RO {5+ 5+35)

6. Explain the determination of an equilibrium tevel of
ipterest raie and income N8 closed economy under
following agsumpiion
. Economy IS pperating under flexible exchange rate
. Money market and goods market both are interest

elastic.
. Money market is MOTE interest elastic than goods
market
How do a policy mix (selling of hond to public in
OMO by central bank and an incteasc in goverpment
spending) gffects an equilibrivm level of ipcome and
interes! ke Explain (10+5])

7. “Inflation 15 an outcome of both supply und demand
sude factors.” Discuss. How do monetarist view iof
inflation differ finrm traditional theory of inflation.
Explain. {10+35)

& Write short poles on any ithree
(a) Drigin of MACTOECOROTIIES
{b) Balance of payments
(ch Contumption fanchol

(@) Liquidity trap (5x3=13)

(500}
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3 Answér all questions. Choice 15 available within each question.

3. Use of simple calculators is permitied.

|. Attempt any five pars from parts {a) ta ([} in this question. 13 5]

{a) What are the values of x that satisfy the inequality ;lf—s >317

(b) Find the limit of the function: limy..o -
() Find all possible integer roats of the equation © —¥ —25x+25=0
(d@) Find the domain and the range fx) = -

rl=x
{e) Find all asymplotes 1o the curve represented by the equation:
_ P-Tat 1612
¥="""giax+r 7
{f A investmen that costs Rs. 200,000 at prescnl is expected o prov ide a return
of Rs. 120,000-afler one year and Rs. 130,000 afler two years. What is the
internal rate of retum for the investment? Is this investment worthwhile if the
market rate of interest is 1057

e —
= —
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Attempt any four parts from parts (2) to () in this question.

{a)

[5x4

A firm assumes an average cost function AC = 10 + = and its demand
function is given by x = 200 = 10p, where x is the monthly output and p is
the price. Find the profit maximising level of output. Also find the firm’s
marginal revenue function.

{h) The short run cost function is given by C = 0001 - 0.3 + 30x + 42,

(c)

(d}

(€]

Determine the values of x where this cost function is concave from below
and find the point(s) of inflection.

1f the population of a country grows over time according to the function P(t)
and the national income grows according to the function Y (t). Derive the
expression for the proportional rate of change of per capita national incoms
Z() = Y(£)/P(t) in terms of the proportional rates of change of Y and F.

Determine the value of & so that the function is continuous at x = |.
xt=3x+2
f{x}=[__x-1 i >0
k - r=1

Use the limits and derivatives of the function ¥ = x*#™* to describe the
curve and sketch its graph.

Attempt any three parts from the parts (3) to (d) in this question. [5x3]

ia)

(k)

{e)

(d)

Prove that if A is & symmetric matrix or a skew symmetric matrix, AA is @
symimetric matrix.

Define linear independence and check the set S of three vectors for linear
independence, where § = {(2,4,1), (3,3, 2), (4, 1. 4)}

For the system of three equations:

r+y+z=6 x+2y+3z=10, x+2ytaz=4

Find the values of & and § 5o that the system has (i) a unique solution, (i} no
solutions.

The demand and supply functions of two related goods are given by
Ody =30~ 8P+ 4P; and O =60 + 6F,

iy = 200 + 4P, — 4P and (=40 + 61

Find the equilibrium prices and quantities.



4. Attcmpt any five parts from the parts {a) to {f} in this question. [Sx5)

{a) (i) Define & homogeneous functions of two variables.
{if} Examine if the following function is homogeneous and find its degree of
homogeneity h(z,y) = Z

F i
(b) Find deidt when z = F(x, y) = xe” withx =+t and y=In

(c) (i) Specify the domain and provide a rough sketch of it for the function
f(x.y) =In(9 - x* —9y*).

{ii) Provide & rough sketch of the level curve to the function in (i) above at
the height 4.

(d) Find all stationary points of the function

fle.y)=x"4y° -2y —2x* +x-y+4
Classify the stationary points as maxima, minima and saddle points.

ie} A firm produces two different kinds A and B of @ commodity. The daily cost
of producing x units of A and y units of B is C(x, ) = 2 — Az + 4y — 40x -
20p + 514. Suppose that the firm sells all its output at a price per unit of Rs.
24 for A and Rs. 12 for B. Find the daily production levels x and v that
maximize profit.

(fi ‘The wiility function for a consumer is given by U =&’y where x and y are
the quantities of x_and y consumed by the consumer. Find equilibrium
hundle if price of x is Rs.1 and that of y is Rs. 2 and the income of the
consumer is Rs. 600 and also investigate the second order conditions.

{200)



—

HM} ~TWwig 2022

[ This question paper contains 12 printed pages.]

'E-'qiwlhll Dol sanivbana
Sr. No. of Question Paper : 1348 s F
Unique Paper Code t 2922101203
‘Name of the Paper : Statistics for Business Economics — |
‘Name of the Course . B.A. (Hons.) Business Economics
Semester i
Dmﬁﬁ:i-ﬂ'ﬂr Maximum Marks : 90

“&!Emlﬂﬂ'ﬂu on the top immediately on receipt of this question paper,
Attempt all questions.

Choice is available within each question.

Use of simple calculator is allowed.

Required statistical tables are attached with this paper.

Attempt any three of the following : (3=10=30)

{a) The wheat yicld (X in quintals per acrc) for lm:l!ﬂah for a sample

ol 8 years was
50, 56, 47, 27, 52, 43, 46 and 55

(i) Compute the sample mean, the sample standard deviation and the
10% trimmed mean. .

(i} Is the sample mean an appropriate measure of location of the data?
Why or why not?

PTO
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{d) A sample of 20 glass bottles of a particular type was selected and the

internal pressure strength of each bottle was determined. Consider the

following partial sample information :

v .ﬁ;. Wi
median =27 lower fourth = 196
ohservations 125.8 188.1 193.7
ions 221.3 230.5 250.2

upper fourth = 216.8

L.

] - - E

2= TIE
L R

_— L

P, me il e R

ﬁ-" __,=.; o the value of the fourth spread f,.

b : _‘ ow much can the smallest sample observation, be increased without
L mvﬁn: of the sample median?

'."':__fﬁ small does an ohservation hav . e to be to qualify as an
 sutlier? An extreme outlier? Are there any outfiers in the given sample?

 Classify the putlicrs as moderate or extreme.

Construct a boxplot that shows outlicrs, and comment on any intercsting

our of the following : (4% 10=40)

= O 3iimp_ﬁ-—'uh casl aluminum part are nln:s_&iﬁqu on the basis of surface
finish {in microinches) and length measurements. The results of 100

parts are summarized as

Surface TE<= i
Finish Excelient Good
Excellent 80 2
Good 10 8

Let A denote the event that a sample has excellent surface finish, and
let B denote the event that a sample has excellent length. Determine :

(a) P{A)

PT.0.




clicat surface finish, what is the

for assistance from &

5 10 Ihﬂ PSS packags and let
h.ﬁt nelp with gAS. Suppose

A)+ P(B) =17

aciables as disorele OF ORITIOLS

rly by @ paﬂlcuhr cow.

; i '.. i‘-."h.- ﬂ thﬂ'ﬁ_
d per acre in Punjab

contnuous random varable
fa for f{x) 10 bhe &

_ﬂh
ﬁ#?ﬂuﬁn
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netion of two random variables ¥ andY is -

(c) The joint probability density fu
given by ¢

2
= -
fx.y)- j{zn 1y), 0<x<l Osy=l
i, elsewhere

(i) Venify that this is a valid density function.

1 1 1)
E}Fid. ﬂﬁI{E,EQY{iJ.

{iii} Find the marginal probability density functions of X and Y.

iv) Are X and Y independent?

(d) (@ 1f X is the random variable whose cdf is given by Fix):

x <3
1<x<2

=

R T

F(x)=1 2sx<3
3<x<4

24

-~
—_—

Find (i) P(X = 1), (1) P(l <X =3) (iii) P2 <X =4) (i) P(X=1)

(i) Given the values of the joint probability distribution of X and ¥ shown

in the table :
1 X
I i i} i
| 0 176 173 | 112
Y [ 219 16
. 136

Caleulate

(a) the marginal distribution of X and Y.

F.T(.
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(b) P(X+¥=1)
(c)  the conditional distribution of X given Y = |
(d) Are X and ¥ independent?

ie) (i) In an exam taken by 500 students the marks are normally distributed
with mean 40 and standard deviation |0, How many will fail if 30 js

(1) Suppose that ﬁ:l-llmr of drivers who travel between a particular
i cstination duning & desipnated time period has a Poisson
distribution with parameter 4 = 20. What is the probability tha| the
number of drivers will

(a) Be at most 107

(b) Exceed 20°

() Be hﬂw:uilﬂmi 20, inclusive? Be strictly between 10 and
207

3. Altempt any two questions © (2x5=10)
(&) (i) The mﬂmm between mathematical methods and
wrongly taken as 3 instead of 7. Find the correct value of thee

coefficient.

(i) Find the mmmm from the following data and interpret

its valog :

r T T 87] 110 435
¥ [38510]301] 322 555
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(k) (1) Given the following aptitude and LQ. scores for a group of students,
find the coefficient of rank correlation ; :

[ Aptitude Score ﬂSEi?ﬂﬂﬁlEﬂﬁi]
1.9, Score 97 18] 95 106 120] 126 1131 110

(i} Two independent variables x and y bave means 5 and 10 and variances
4 and 9 respectively. Obiain the correlation coefficient between
k=3x1-dyundh=3x—y.

(e} () Draw a scatter diagram of the following data and indicate whether the
correlation between the variables 18 positive or negative.

M| &4 65] s0] 7o)
) 39] s8] 34| 65|

Hi inches) 62 121 M| s
65

67
Weight (lbs} 50 63| 521 %6

(i) The covariance of two perfectly correlated variables Xand Y is 96,
Determine ox and ay if it is known that variance of X and that of Y
is in the ratio of 4 - 9.

4.  Anempt any two of the following : (2%3=10)

(a) (1) A fresh graduate is offered jobs by a recomting company in cities A
and B. He is offered a monthly salary of 40000 in A and 36000 n
B. Given thal the consumer price index is 180 in A and 150 ip B.
Which job offer should he accept? How much should be the minimuim
salary at which he would accept the other job offer?

(i) Assume that an index number is 100 in 2011, it rises 3% in 2012, falls
196 in 2013, rises 2% in 2014 and rises 3% in 201 5. The rise and fill
are with respect to the previous year. Calculate the index of the five
¥ears using 2015 as the base year,

PTO
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(b - The following tables 8
price index for the perio

show real income of &

18

gall income of a person and the general
Prepare the index number 1o

¥ ear
ol
012
2043

014

(i1) The cnu;m'e_'r_f

base year 2UUN.

==L

(a)

e

(<) (i) Calculale he CP1 fre

(a) Cmﬂwnﬂﬁﬂm‘ﬁl‘ﬁ Laspeyre's and Paasche’s index numbers.
g and Pansches index

(b} thﬂl‘mm lies between Laspeyre
numhﬂ_r';_i;
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Table &3 Stamdard Hormal Curve Areas {cont.)
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Your Roll No......_....... e .
Sr. Ne. of Question Paper : 6812
Unique Paper Code 3 12481402
Name of the Paper : Basic Econometrics
-0.ZName of the Course : B.A. (H) Business Economics 2023
{LOCF)
Scmester - v
Duration : 3 Hours
Maximum Marks - 75

In structions for Candida Lies

|, Write your Roll No. on the top immediately on receipt of this question paper.

2. Question | is compulsory, Attempt Question | and any five other questions.

Q.1 Provide reasons and state whether the following statements are true or
false.

(i} Inthe regression model In H=F 40X+ . ifﬂH is multiplied by
100, we obtain the growth rate estimate of ¥,.

[it] Adjusted R® is always lesser than unadjusted B2

(iii] Ceteris paribus, the more dispersed are the sample regressor values
in a linear regression, the greater s the variance of its coefficient,

(iv) If p-value of a test statistic is greater than the chosen level of

significance @, then we reject the null hypathesis at the a level of
significance

P.T.0.
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(v)

In the regression model ¥y = B + f2X, + uy, if the OLS residuals are
plotted against time (t), and a distinct pattern is observed, then it

indicates the presence of heteroscedasticity. {5x5)
Q.2 A firm's five-year data of profits earned in thousands of rupees (Y]
and amount of & good produced in million units () is given below,
Year 2010 | 2011 | 2012 | 2013 | 2014 |
YnRs'000) | e8] 90| so[ 70| S0
| X {in million units) 6 5 | 4| 3 2
Use the data to:
(i} Estimate the equation of the linear regression line of Yon X
(1i) Calculate the residual sum of squares for the regression.
(i1} What proportion of the variation in ¥is explained by XY
(iv] Test at the 5% level of significance whether the slope coefficient
Is greater than 2.
(v] Calculate the 90% confidence interval for the mean predicted
value of Y when X = 4.5 (3.1.1.32)
0.3. (a) The following regression model was estimated using data collected
from 34 retail stores:
se = (628.151) (6853)  (0.6852)
RSS = 1947233  TS5=752093.55
where ¥, is the monthly sales of a good; X3 is the price {in Rs.) at shop
i; and X5, is the “in store” promotional expenditure (in thousand
rupees) at store [.
(i} Interpret the estimated partial slope coefficient of X,
(ii) Calculate the values of R* and adjusted RZ.
(iii} Test the model for overall goodness of fitata = 0.01.
(b} List the steps required to test for the normality of the population
disturbance term. (1.3.3.3)
Q4 Consider the results of the regression model applied to the Savings

[¥) and Income (X) data for the two periods:
Period-1;: 1989-90 to 1995-96 and Period-11: 1974-75 to 198B-89.
¥, = —3004.959 — 25595.5540; + 0.249X; + 0.0750.X;
1= (~0910) (-2945) (13.752) (3454) R = 09951
e e [1 for observations from Period |
0 for observations from Period Il

T
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0.5

(L6,

{i] What is the base/control category for this regression?

{ii} Is such a model called and ANOVA model or an ANCOVA model?
(iil) Interpret the meaning of the coefficient value 0.075?

{iv) Test whether the model suggests the presence of structural
change in the two periods.

{v) Write out the regression equation for Pertod-IL (11.242)

In order to check for the presence of multicollinearity in the model
¥; = f1+ BaXg + PaXy + u;, an auxiliary regression was canducted
and the result is:

Xy = 2456 + D.T95EXy;

se = (0.56) (0.0598) R*: =090

(i) Compute the variance inflation factor. Do you find evidence of
multicollinearity?

(i) Are the estimates of f; and fi; biased? Are these inefficient? Why
or why not.

(iif) Without conducting the auxillary regression, how could one
detect the presence of multicollinearity?

(iv) Describe two remedies to deal with multicollinearity and their
limitations. [2.22.4)

In a regression of average wages (W) on the number of employees (N)
for a random sample of 30 firms, the following results were obtained:

Regression 1:

W, = 7.5 + 0.009N,

t= {16.10) R*=09
Regression 2:

Wi _ 0008 + 7.8

R TN

i
= (1443) (7658) R*=099

(i) How would you interpret the two regressions?

(il) What might be the reason for transforming Regression 1 into
Regression 27 What assumption has been made about the error
variance in going from Regression 1 ta Regression 27

{iii} Can you relate the slopes and intercepts of the two models? Can
you compare the R? of the two models? Give reasons,

(iv] How would you check for heternscedasticity, test its existence
and then remedy it? (use Regression 1 as the reference) [2.2.24)

PT.O
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Q7.

¥
The results of a logarithmic regression of demand for food on price
and personal disposable income is given as:
log@; = 2.34 —0.31 log Py + D.45log¥, + 0.65 log q
se = {0.05) (0.20) (0.14)
R*=090 d=18
where § = food consumption per capita; P = food price; ¥ = real per
capita disposable income
(i) Interpret the value of the coefficient 0.31.

(il} Just by looking at the estimated regression, do you suspect serial
correlation in it? Why or why not.
(iii) Which test do you use to confirm your suspicion and why?

(iv] Outline the steps of the above mentioned test and provide a
conclusion on the basis of your calculations,

(v] State the conditions under which you may choose different tests
for serial correlation. (1.2,2.2,3)

€ P j-.rfrﬁ b

e
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[nst[uctigns for Candidates
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Write your Roll No. on the top immediately on receipt of this question paper.
lilustrate your answer with suitable diagrams, wherever reguired.
Al parts of each question must be done togethet

Atiempt FIVE questions in all. Question No. 1 is compulsory.

 Consider the following statements whether true or false. Justily your answer with appropriate

reason. Attempt any FIVE

a. Irving Fisher's model of the consumer consumption depends on both income
and wealth,

b. Al types of investment are directly related 1 the real interest rate.

c. in a free fioal exchangs raie regiri, forcign cxchange reserves are used 1o
meet the excess demand for foreign exchange

4. As per impossible Trinity. it is impossible for a nation to have free capital
flows. a fixed exchange rate, and independent fiscal policy.

¢.  Endogenous Growth Model and Solow Growth Model both assume Constant
retums to Capital.

P T,
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A

f  When an cconomy falls into the Liquidity Trap conventional monetary policy

can be helpful,
(5x3=13)

The Neoclassical model of Business Fixed Investment shows how the level of investment

(the addition to the capital stock} is related to the Marginal Product of Capital and the imerest

rates affecting the firms. Discuss. {15)

3. (4) Aggregate investment expenditure in an economy is finunced through three different
sources of savings. In light of the statement explain threc sources in detail. (10}
(b) Discuss the advantages and disadvantages of floating & fixed exchange rate. (5)

4. {a) Explain why a monetary expansion for 3 small open economy under fixed exchange rate
will have no effect on real income. Use appropriate diagram. (&)
(b) Explain the impact of fiscal expansion on real income under fixed exchange ratc. Use

appropriate diagram. (T)
5. (&) Given:

Production Function, Y = 10(K)' “(ELY™"
Population growth rate is 4%,
Depreciation rate is 10%,

Rate of technological progress is 2% and
Savings rate s = 0.128

Caleulate:

a. Steady states level for each of the following: Capital per effective worker, output
per effective worker, consumption per effective worker, saving and investment
per effective worker, and depreciation per effective worker.

b. Steady state growth rates of capital per worker, eutput per worker, investment per
worker, and consumption per worker.

¢. Steady state growth rates of Aggregate Capital, Aggregate Output, Aggregate
investment, and Aggregate Consumption.

(6+2+2)

{b) Explain Endogenous Growth Model in light of AK model. {5
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6. The government reduces taxes after creating a balanced budget, which results in a budget
deficit. What will happen to debt in the long run? Will the government eventually have 1o
raise taxes? If so, then by how much? Explain in detail, {15

7. Write short notes on any TW of the following:

K Shoe- leather Costs and money illusion
ii. Tobin"s g and its advantage
iii. J curve

(7.5+7.5)

—_———

(700)



-

[This question paper contiains 4 printed pages.]

Your Roll No...... e e F A S o
Sr. No. of Question Paper - 6813
Unigue Paper Code 12481403
Name of the Paper : Marketing Management
Name of the Course : B.A. (H) Business Economics 2023
(LOCF)
Semester : v
Druration ; 3 Hours
Maximum Marks . 75

Instructions for Candidates

-

g

Write your Roll No. on the top immediately on receipt of this question paper.

Read the instruictions of each section carefully.

SECTION A

{Attempt any THREE questions)
Q1. Write short notes on amy two of the following (5+5=10 Marks)

(4} Ansoff matrix

{h) Marketing Myopia

(¢) Product ling

(d) Integrated marketing communications

Q2. Write explanatory notes on vertical and horizontal marketing system. (5+5=10 Marks)

(3. Recently, marketers are concentrating their marketing efforts on Rural India. Explain your
understanding of rural marketing? Are the marketing strategies for rural areas same as urban
areas? (5+5 =10 Marks)

(4. Discuss the different stages in a product life cycle and different marketing strategies that
need to be adopied.( 10 Marks)

P.T.O



6813 2
SECTION B
(Attempt any THREE questions)
Q3. Discuss the pricing strategy to be adopted by Health First Led. for its range of Healthy
snacking options for young children. You may tiuke appropriate assumptions. (10
Marks)

Q6. Food Delivery Apps have become an integral part of urban Indian consumers today. In this
context, discuss the Michael Porter’s model of competition clearly bringing out the relevance of
its five forces. {10 Marks)

Q7. Discuss which promation focl(s) would be most effective for any two of the following,
clearly stating your reasons:

4. Premiuzm Range of Perfumes
b. Sugar Free Chocolates
¢. Home-Furniture ( 10 Marks)

Q8. “Stunning You' is & new start-up planning to launch whole range of cosmetic ilems ranging
[rom skin toners to make-up. These items will be made entirely from organic, herbal, and natural
mgredients.  Consider yourself as the marketing manager of this venture, Identify and brefly
explain the appropriste Segmentation. Targeting and Positioning sirategy of the firm for
strtegically launching the brand and its products in the Indian marker (10 Muarks)

SECTION C
{ The question below is compulsory)

(¥ Resd the case study below and artempl the Juestions ﬁ:ﬁnw'rng it
FROZEN DESSERT vi ICECREAM

Whut's the difference between an foe erenmiand a frozen dessert? And does i matter?
Yes, ifthe hattle betwieen these ginnt companics 14 any mndication.

Indin's largest fast moving consumer goods (FMCG) company. Hindustan Unilever. hud filed 4
case agmnst the country’s largest ice-cream maker, Gujarat Cooperative Milk Markeiing
Federation, in the Bombay High Courl. successfully oblaining an - injunction against an
advertisement for Amul ice eream which “disparaged frozen dessens™.

Amul's ad had said that people shonld cat real ice eream made from milk, rather than frozen
dessent made from "vanaspati®. The cournt said the nd was "guilty of disparaging (criticizing)
rival product” — Unilever's Kwality Walls, which is a leader in frosen desserts.

————
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ma, whal's the dilference between the two?? An ice-crenm & made from milk fas while a frozen
dessert is made from: wegetable oil fars. Vanaspati is a hydrogenated vegetable oil ased in
cooking, a cheaper substitute for ghee or butter. But it's not used in frozen desserts. say
maufaciurers,

Every summer, a batile of sorts resumes between ice-cream and frozen dessert mokers. Offten,
conswmers wre unaware about the difference.

"It becomes very difficult to convinee people that we make jcc-cream, and not frozen dessen.
The appronch that we have decided 10 undertake is 1o educate the consumers by pointing them to
the differentiation which the government of India hos made.” Viee President and Head of
Marketing at Hovmor Iee Cream said,

From the beginning, we have been making only milk cream-based ice creams and we have never
made frozen desserts. In one of our survevs, we found oul that 92%-93% people did not know
the difference between frozen desserls and ice-creams. We believe that consumers should know
what they are eating™, another official said.

Gujarat-based Havmor claims itself to be the second-lorgest duiry-based ice-cream maker, after
Amul. The Food Safety and Standards Authority of India (FSSAI) has coteporised ice-creams
under "dairy based desserts/confections”, further categorised as plain, medium it and low fat
depending on the percentage of total solids, milk fot and milk protein used.

The food regulator defines “frozen dessert/frozen confection” as a product obtained by freering 2
pasteurized mix prepared with milk fat and/or edible vegetable oils and fat. The milk fat is used
in such dessert for freezing,

According fo ice-cream manufacturers, frozen desserts have caplured o market share of 40 per
cent of the Rs 1,800 crore market with a growth of approximately 10-12 per cent every year,

"We have recently come out with a campaign on print and digital mediums talking only about
the poodness of our product - that they are made from rich, creamy milk." said General
Manager. Marketing (Dairy Products) of Mother Dairy.

But are bath the products same from the health viewpoim?

A Chief Dietician at leading hospital in Delhi said that frozen dessernts have more trans-fat ns
compared 10 ice=creams. "Trans fatty acids are not good. | belicve trans fatty acids are used in
frozen desserts because the normal ofl does not freeze. T would suggest ice-creams are belter than
frozen desserts,” he asserted.

Hindustan Unilever contests this, "Frozen deseris do not contain transfat, sinee their source of fat
is vegetiable oil which is trans-fat free," said HUL in a rejoinder.,

P.T.O.
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The Chier Executive Officer of Creambell — which markess 5 combination of jce creams angd
lrozen desserts -« said dwareness should be raisad on the virtues pf vegetable oil compared 1o
those of dairy far,

“Ihe cooking medium L our nouses remans VERELIONE Ol Or misuny gy, LIS 5w saic
ingredient thay Loes into the making of frozen dessert. The fact remaing that nobody uses
'anaspati' in frozen dessert," said the CEO of another leading com pany.

He said that most of the single serves are jce cteams, while for catering und banqueting packs
they use frozen desserts. "If we sell & frozen dessert, it iy very elearly labelled, We canno
cemouflage a frozen desser 88 jce-eream or vice versa," he said.

He said that 10 per cont fat that goes-into ice-crean is dairy fat, whereas that 0 Per cent gaing
o frozen dessert i vegetuble oil far,

Hivinor's representative 55 'S @ question of Consumer awareness, "At the end of the day is
frozen dessert a had thing? No, it's not o had thing, bul there are differences; Importantly, 5
consumer has a right to know, " he said,

The aftermarh af awareness

So, when it was foung (nearly a decade ago) that certain iced-delicacies cal| themselves “jee.
creams” don’t indeed have any cream (milk/dairy fat) in them. it was only fair to (he Consumers
and their competitors; that they change their product eategory from ice-creams 10 frozen desserts,

Now companies thas use Vanaspati in making their cald confectionaries, are legally obligated 1o
call thetr prodicts frozen desserts and mention the ingredients explicitly on the back Fabel,

However, o stay ahead of the game., the genius retaifers have found a loophote- they do mention
the required details, bur in an ohscure comer of the box! Consumers have 1o hunt for these
details- which let*s face it. not mary of us da,

U9A) In context of ke hove write-up, sugoest the murketing strategiey ifocusing on Promaticn
and advertising) from the point of the compinies which produce ice-creams and the companies
which produce frozen desseris. You ean  make Your assumptions, (§+3=[g Marks)

Q9B) What is ethical marketing? What suggestions will yoy give to these leading ice-cream and
frozen desserty munufactures about ethics in marketing? (5 Marks)

(To0)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on reoceipt of this question paper

2, Attempt any five questions.

1, All questions carry equal marks.

Q.1 (a) In each of the following cases, identify a test that you shall condect with bricf
reascning, Also explain how will you perform the same in SPSS? Also state the assumptions
that are to be mel in these tests,

{3*3=0)

{1y If vou want to lest a university claim that their students get an average package of Rs. 10
Lakh after MBA. You sample |10 students from the university and check their package. Test
il the university"s claim is true.

(ii} If you want to check whether there is.a difference in salary of employess of a particular
company based on their education levels L.e. Graduation, Post-Graduation and Professional.

(iii) IT you want to check whether there is a difference in marks of students according to
classes attended or nod attended.




E score, gender, social s
duamy\'aﬂabfelhﬂlhmd:dls liffemale clse 0,

Table-1 Model Summary

R 0.693

R square 0.485
"Adjusted R Square 0.479
| Standard ervor of the estiman 714817

F statistic 46.695

{Sig.) el (0.000;

8, Predictors: {constant), reading score,

b. Dependent variahle- Science score

mﬂ&.mﬂmism.mhm

Table 2: Coefficients
[ Model | Unstandargizeg Standardized [t ¥ [5jp, —[
coefficients coefTicients
Beta Sud, Beta
Ermor
Constant [ 12325 3614 3.859 | 0.000
I_muding 0.0]9 005 0488 3.678 | 0.00]
SCqOre
gender 2000 |.623 = 101




a. Predictors: (constant), reading score. gender, socinl studies score, math score
b. Dependent variable: Science score

Based on Table! and Table 2,

i Write regresston equation of the above model and interpret i (2)

ii. Comment on the oversll goodness of fit of the model. [y

iii.  How will you interpret the coefficient of the dummy gender? Do you think gender
is influencing science score of the students? {2)

iv. Explain the difference between standardized and unstandardized coefficients, (2)

v, Indicate the significance of the explanatory variables-math score, reading and
social studies score clearly indicating the null and alternative hypothesis involved,
(3

(b} Explain how will you test the assumption of homoscedasticity and multicollinearity in
SPS&Y {3}

(.3 {a) Explain the difference between Likert and Semantic Differential scale. Suppose a
researcher wants to anabyse the opinion of customers regarding their dining experience af a
newly opencd restaurant. Construct a ten item Likert and Semantic Differential scale 1o
measure the perceived image of the restavrant, Make sure that the ten items under cach
format correspond to the same len dimensions.

{104

(b} Explain with an example when and how do we conduct the Wilcoxon Signed Rank test.
{2)

Q.4 {a) What do you understand by non-probability sampling method. Explain its various
types with examples. (5]

i

(b) ldentify with a bricf reasoning the sampling methods that may be used in each of the

Tollowing situations, (5*2=1

(i) An NGO wants 1 pick a sample of girls across five neighbouring tfowns to provide
education.

(i) A researcher wants 10 study the scademic performance of undergraduate students in threc
courses Economics (H), B.Com (H) and BBE in different colleges across Delhi Uiniversity 1o
fimd outl Stadenis of wiich coorse are the best performers.

(iii} The populstion of interest is in the alphabetical order. Starfing with the 8th name, every
Oth member thereafier was selected ns 2 member of the sample. The sample, therefore,
eonsisted of numbers B, 17, 26, 35 and so on.,

R,
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{iv) A researcher 15 interested in collecting a sample of individuals suffering from a rare
disorder. It is known that it is difficult to get hold of such people.

(v) A car company wishes 1o target its advertising campaign towards a sample of people who
arc most likely to purchass its luxury car.

Q.5 (a) There is a society of 1000 residents with four neighborhoods- P, Q. R, and 5. A
rndom sample of 630 residents of the society is mken whose occupations are doctors,
engineers. and teachers. The null hypathesis is that each person's neighborhood of residenc)
is independent of the person’s professional division, The dats are categorized as given below;

Cateporics | P |Q |R [§ | Toul

| Doctors op |60 | Lo4 |95 | 349
1

Engincers [30 |50 |51 |20 [ 153

Teachers: | 30 |40 |43 |35 | 150

Total 500 | 150 200 | 150 | 50

How can we test that the choice of profession fs independent of the neighborhood (at alpha
level of 0.05)7 (8]

(b Study the following tables and answer the questions given below:

N
T
S al I
e L It 3 LT ¥ lig
Babykdil Gimie o Ed - I i 5] by |
A e “1d Atk T sl i
Tidai kTl ] # |
LEY PR B LD ] ]
Bapsidus vreabls T
(TR o )
Lis i jiay = pmuipe:d [rin
- [ iem comuni tns
1 i o Ll il wiEnm | g Lipwdi foasd | Umpe Bresad
yros. e L L L g T T
atvare+d 3 kel sdmi B = L] o el
Flamdas  BrpEe I | VA3ER [¥E AT SR
Lhgalal Sl | 1E ] 13 FRE
Evaed Erane ¥l [ E- i1} ] - | N
1 ;‘,m:-;r.r Tl | AR i dEE] L e | waare
P iy i il sl o0 o A rast o Fiw LdG HESE]
L What does the above test signify® Whai are the null and alternative hypothesis in

the above test? (2}
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. Interpret the above tables (3)
iii. When do we use the ‘Levene Test® of homogencity of variance? 2)

0.6 Write shon notes on any three of the following with suitable examples (5*3=]5)

(n) Research l"r_n.'..-ntss

(h) Errors in Hypothesis lesting
(chany two primary data collection technigues
(d) Descriptive and Causal Research.

(e} Interval and Ratio Scale ' $

(400}




-
[This question Paper contains 3 printed pages.]

Your Roll No
Sr. No. of Question Paper : 6R18
Unigue Paper Code : 12487910
Name of the Paper ! Dearivatives and Currency Markets
Name of the Course ; B.A. (H) Business Economies 2023
{(LOCF)
Semester : Vi
Duration : 3 Hours
Maximum Marks - 75
Instructions for Candi at

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any five questions.

All questions carry equal marks

Use of Simple Calewlator is allowed

Q.1.(2) A company is operating in B country having the $ as its unit of currency has today
invoiced sales to an Indian Company, the payment being due 3 Months from the date of

invoice. The invoice amount is $13,750. At today’s spot rate, it is equivalent to- Rs.5,00,000.
It is anticipated that the exchange rate will decline by 5% over the 3 months pericd and in

Q.1 {b) On August 2, 2022 the DM was quoted $0.3876/DM in New York. If on this same
date, Paris was quoting FF 1.7500/DM and FF 4.6875/8, what are the incentives for arbitrage
if dealer has DM 50,0007 (8 + 7 = 15 Marks)

P.T.0,
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Q.2 (a) An exporter is a UK based company. Invoice amount is $3,50,000, Credit Period & 3

Months. Exchange rates in London are:

Spot Rate: §/ £ = |.5865 — 1.5905
3 Months Forward Rate: 5/ £ = 16100 - 1.6140

Rates of Interest in Money Market are:

Depaosit Rate Loan Rate
§ 7% 9%
£ 3% 8%

Compute and show how a moncy market hedge can be put in place. Compare and contrast the
outcome with a Forward Contract. (Given: ¢"™ = 1 02275, ¢"*%° = | 01258, &7 = 1.0202,
""" = 1.01765)

Q.2 (b) The following table shows interest rates for the US $ and French Francs (FF).
The spot exchange rate is 7.05 FF per US $. Complete the following entries;

Particulars 3 Monihs f Months
3 Interest Rate {Continuously Compounded) | 11.5% 12.25%
FF Interest  Rale (Continuously | 19.5%
Compounded)

Forward Franc per § . | e :
Forward Discount per Franc % Per Year | ......... -5.3%

{Given: ¢" ™ = 1.049, "™ = | g9, "% = | 063, L (1.09768) = 0.0932)

{7+ B =15 Marks)
Q.3 A call option is available on RIL stock with the following information:

Current Price of RIL stock = ¥ 2304
Time to maturity = 2 months

Risk free rate of interest = 10% p.a,
Volatility = 0.30

Strike Price =¥ 2280

(a} Calculate price of call and put option using Black-Scholes formula.
{b) Again calculate price of call option using 2-steps binomial model.
(¢) Why the price of call option calculated in part 1 and part 2 does not match?
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(d) If a risk manager buy 10000 call options, and short 2000 put options, caleulate portfolio
delta using BS model, What position in the stock would make the portfolio delta neutral.

Additional Information: In (2300) = 7.7407; In (2260) = 7.7391

[4+6+2+3=15 Marks)
Q.4 Write Short notes on any three of the following:
(a) Interest Rate Swaps
(b) Target Zones
{c) Purchasing Power Parity
{d) Dollarisation {5*3 = 15 Marks)

Q.5 (a) Equity shares of TCS Lid. are currently available at a price of 222 per share,
Three call options are available at different strike prices. The strike prices are 320, 25 and

%30 per share for a premium of 25, T4 and 32 respectively. An investor selects an appropriate
strategy for three call options. Explain how he can do that, What would be his net profitfloss
if on the expiration date the stock price is 215, 123, T28 or £35.

{b) The NIFTY Index Futures are traded with rupee value being 100 per index point. On
15" September, 2022 the Index closed at 1195 and December Futures (last trading day
December 15, 2022) were trading at 1225, The historical dividend yield on the mdex has
been 3% p.a. and the borrowing rate was 9.5% p.a.

(i) Determine whether on September 15, the December futures were underpriced or
overpriced?

{ii} Is there a possibility of arbitrage gain?
{iii) Calculate the gain or loss if the index on 15" December closes at (a) 1260 or (b) 1175,
(Given: ¢ = | 0164, ™ = 1.024) (7+ 8 =15 Marks)

Q.6 (a) What are the advantages and disadvantages of a freely floating exchange rate system
versus a fixed exchange rate system?

{b) What is the expected relationship between the relative real interest rates of two couniries
and the exchange rate of their currencies? (8 + 7 = 15 Marks)

{200}
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Instructions for Candidates
1. Write vour Roll No, on the top immediately on receipt of this question paper.
2. lllustrate your answer with suitable diagram, wherever required.

3.  Attempt any Five question.

|.  Heckscher—Ohlin theory isolates the difference in relative factor abundance among nations

a5 the hasic cause or determinant of comparative advantage and international trade. [riscuss.
(15

I
'

{a) What is meant by the equilibrium-relstive commodity price in 1selation? How does it
define the mation's comparative advantage?

(h) What does the factor—price equalization theorem postulate? Examine the effect af
internationul trade on relative factor prices and incoms within each nation and its relationship
1o the international mobility of fictors of production? (&8N

3. {a) Is it true that imposition of tariff leads to inefficiencies in an economy in terms of dead
weight loss? Justify your answer with appropriate diggram.

P.T.0.
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(b} In what way was international trade an engine of growth for the regions of receal
settlement during the mineteenth century? Can we expect it to be an engine of growth for
today’s developing nations? Justify your answer, (8,7}

4. {u) Intra-industry trade is based on product differentiation and economics of scale. Discuss?
How can we measure Intra-Industry trade?

ib) Under what conditions is the formation of & customs union more likely lead to trade
creation and increased welfare? What dynamic benefits are the nations forming a customs
union likely to receive? (B.T)

5. ()} What are the various terms of trade? What are the main reasons for secular deterioration
of terms of trade for developing countries ?

(b} What is the difference between a nominal tarifl and an effective tariff? How is the rate
of effective protection measured? (8.7)

6. (a) Discuss the salicnt features of agreement in Agriculture in WTO and its implications for
India

{b) What is a Eurocurrency? What are the main reasons for the development and growth of

the Eurocurrency Markel? = (8.7
™ ——
7. Write short notes on any three: 3 —— (5x3=15)
|
r
{u) Equilibrium foreign exchange rate - I.:-;

(b) Offer Curves
{¢) Economies of scale and trade
(d) Leontiff Paradox

(¢) The General Agreement on Tariffs and Trade (GATT)

(50407
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Attempt any five question.

All question carry equal marks.

Shreva and Riyva are currently pursuing final vear of graduation in the Busingss Economics
department of University of Delhi. They identified huge problems of locating a good PG
secommodation in Delhi, as they both are out-station students. They spotted this opportumity
as there was a huge gap in demand and supply. They plan to launch a comprehensive
solution for siudents' PG related problems. Perform a market feasibility study for them and
advise whether they should launch this idea in Delhi and later in India. [15]

Classify the following products on the basis of type of technology responsible for their
SuUcoess

(1) Ready 1o Eat Food

PT.0:
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{2) Smart watehes

{3} Ear Pods (Ix5=15)

Explain the difference between Risk and Uncertainty Analysis. What gre the different
techniques of Uy certanty Analysis? Explain with the hel P of an example. (15)

[dentify and quote examples of two ventures from relevant industries and claborate the
probable reasons of failure of any new business ides. Also, state the essential requirements

that contribute to the success of any venture. {15)

Discuss in detail varipug initiatives taken up by the Government of India to build and
strengthen Start Up Ecosystem in India. (15}

What are the factors You will consider 1o pertaorm Social Impact Assessment fSMﬂr

of construction of g new flyover at Punjahi Bugh, Delhi? (15)

Write Short Notes o any three.

ta) Estimation of Marke! Size

{h) Un-Conventiong] saurces of funds available for aspiring entrepreneurs

(€} Parameters considered by progpective lenders during overall technical assessment

{d) Process of launching a new venture in India (3=5=15)

{200)




